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Please Show Your Work for Full Credit, Include Units Whenever Possible.
Justify all your answers
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. “derivative. Identify which is which.

3) Each figure below shows the graphs of a function, its first derivative, and its second
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4) Each figure below shows the graphs of a function, its first derivati%ze, and its second

derivative. Identify which is which.
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Show All Your Work, No Procedure = No Points

(6 Polms)
12} The positior of 4 parucle is given by the equaton
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where “t” is measured in seconds and “57 15 1n melers.
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EXTRA CREDIT PRUBLEMS
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